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Question Number : 1 Question Id : 6801919699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are CORRECT about Marx's concept of historical

materialism?

(A). The term historical materialism refers to the materialist conception of history.
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null

(B). Engels credited Marx with being the originator of historical materialism.

(C). Marx contends that the political structure of society. constituted by its relations of

production 1s the real foundation of society.

(D).The society's relations of production 'corresponds to a definite stage of development of

material productive forces',
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2.(A). (B) and (C) crniv.

3. (A). (B).(C and (D).

4. (B). (0) and (D) only.
Options :

68019138201. 1
68019138202. 2
68019138203. 3

68019138204. 4



Question Number : 1 Question Id : 6801919699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138201. 1
68019138202. 2
68019138203. 3

68019138204. 4

Question Number : 2 Question Id : 6801919700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following advocated the concept of relative autonomy of State ?

. Ralph Miliband
Nicos Poulantzas
3. Lous Althusser
4. Antonio Gramsei

I =

Options :
68019138205. 1
68019138206. 2

68019138207. 3



68019138208. 4

Question Number : 2 Question Id : 6801919700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019138205. 1
68019138206. 2
68019138207. 3
68019138208. 4

Question Number : 3 Question Id : 6801919701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Locke, following are the natural rights of the people-

. Right to equality, self preservation and right to property
. Right to self preservation and right to property

. Right to life. equality and right to property

4. Right to life. liberty and property

faa [ —

Options:

680191382009. 1
68019138210. 2
68019138211.3

68019138212. 4

Question Number : 3 Question Id : 6801919701 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138209. 1
68019138210. 2
68019138211. 3

68019138212. 4

Question Number : 4 Question Id : 6801919702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which of Marx's writings 1 it said. " The history of all hitherto existing society is the history
of class struggles"?

1. The Communist Manifesto

2. Social Reform or Revolution?
3. The State in Capitalist Society.
4. Socialism for a Sceptical Age

Options :

68019138213. 1
68019138214. 2
68019138215. 3
68019138216. 4

Question Number : 4 Question Id : 6801919702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :
68019138213. 1
68019138214. 2
68019138215. 3

68019138216. 4

Question Number : 5 Question Id : 6801919703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earlier known example of direct democracy is found in:

. Syracuse
. Sparta

3. Athens
4. Rome

Options :

I =

68019138217. 1
68019138218. 2
68019138219. 3

68019138220. 4

Question Number : 5 Question Id : 6801919703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019138217. 1
68019138218. 2
68019138219. 3

68019138220. 4

Question Number : 6 Question Id : 6801919704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is the author of the book 'Statesman’ ?

. Thomas Hobbes
. Aristotle

3. Plato

. Montesquieu
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Options :

68019138221. 1
68019138222. 2
68019138223.3
68019138224. 4

Question Number : 6 Question Id : 6801919704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019138221, 1
68019138222. 2
68019138223, 3

68019138224. 4

Question Number : 7 Question Id : 6801919705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Realist thinker ?

1. Thomas Hobbes
2. Kenneth Waltz

3. Woodrow Wilson

4. Hans.J. Morgenthau

Options :

68019138225. 1
68019138226. 2
68019138227. 3

68019138228. 4

Question Number : 7 Question Id : 6801919705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019138225, 1
68019138226. 2
68019138227. 3

68019138228. 4

Question Number : 8 Question Id : 6801919706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the SAARC Specialised bodies according to the year of its
establishment.

(A). SAARC Development Fund

(B). SAARC Arbitration Couneil

(C). South Asian Regional Standards Organisations

(D). SAARC Agriculture Centre

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2.(A).(C). (B).(D)
3.(D). (A). (B). (C)
4.(C). (B). (D). (A)

Options :

68019138229. 1
68019138230. 2
68019138231.3
68019138232. 4

Question Number : 8 Question Id : 6801919706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options:

68019138229. 1
68019138230. 2
68019138231.3

68019138232. 4

Question Number : 9 Question Id : 6801919707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the books of Mahatma Gandhi according to the year of publication.
(A).The Story of My Experiments With Truth

(B). Hind Swaraj

(C). India of My Dreams

(D). Satyagraha in South Africa

Choose the correct answer from the options given below:

1. (A). (B). D). (C)
2.(B). (A)

-(B) A) (D). (C)

3. (A). (B). (Cl (D).

4.(B). (C). D).(A)
Options :

68019138233. 1
68019138234. 2
68019138235. 3

68019138236. 4



Question Number : 9 Question Id : 6801919707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138233. 1
68019138234. 2
68019138235. 3

68019138236. 4

Question Number : 10 Question Id : 6801919708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which among the following country is not a member of SAARC?

1. Afghanistan
2. Myanmar

3. India

4. Sr1 Lanka

Options :

68019138237. 1
68019138238. 2
68019138239. 3

68019138240. 4



Question Number : 10 Question Id : 6801919708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138237. 1
68019138238. 2
68019138239. 3

68019138240. 4

Question Number : 11 Question Id : 6801919709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What were the main reasons for the collapse of communism and end of Cold War ?
(A). The structural weaknesses of Soviet-style communism

(B). Soviet invasion of Afghanistan

(C). The impact of Gorbachev's reform process

(D). Economic and Cultural Globalization

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A). (B) and (C) only.
3.(A). (C) and (D) only
4. (C) and (D) only.

Options :

68019138241. 1
68019138242. 2
68019138243. 3

68019138244. 4



Question Number : 11 Question Id : 6801919709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138241. 1
68019138242. 2
68019138243. 3

68019138244. 4

Question Number : 12 Question Id : 6801919710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following book has not been written by Dr. B. R. Ambedkar?

1. Thoughts on Pakistan

2. Annihilation of Caste

3. Gandhi. Nehru and Tagore

. The Problem of Rupee:Origin and Solution

ey

Options :

68019138245. 1
68019138246. 2
68019138247.3

68019138248. 4



Question Number : 12 Question Id : 6801919710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138245. 1
68019138246. 2
68019138247.3

68019138248. 4

Question Number : 13 Question Id : 6801919711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the following events related to global environment.
(A). Kyoto Protocol

(B). Rio Earth Summit

(C). Copenhagen Summit

(D). Johannesburg Summit

Choose the correct answer from the options given below:

(A). (B). (C). (D).
.(B). (A). (C). (D).
- (B). (A). (D). (C).
(C). (B). (D). (A).
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Options:

68019138249. 1
68019138250. 2
68019138251. 3
68019138252. 4



Question Number : 13 Question Id : 6801919711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A).(B). (C). (D)
2. (B). (A). (C). (D)
3.(B). (A). D). (C)
4.(C). (B). (D). (A)

Options:

68019138249. 1
68019138250. 2
68019138251.3

68019138252. 4

Question Number : 14 Question Id : 6801919712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events of Cold War in a chronological manner.
(A). Soviet invasion of Afghanistan

(B). Korean War

(C). Berlin War

(D). Soviet invasion of Hungary

Choose the correct answer from the options given below:

. (A). (B). (D). (C).
_(A). (C). (D). (B).
.(B). (D). (C). (A).
4. (A), (B). (C). (D).

Options:



68019138253. 1
68019138254. 2
68019138255. 3

68019138256. 4

Question Number : 14 Question Id : 6801919712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138253. 1
68019138254. 2
68019138255. 3

68019138256. 4

Question Number : 15 Question Id : 6801919713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

List-I List-IT
{Book) {Author)
A |The Republic I |Machiavells
B. |Lewviathan I1. |Hobbes
C. |Florentine History I1I. |Plato
D. |Two Treatises of Government IV. |Locke

Choose the cerrect answer trom the options given below:

L. (A) - (D). (B) - (ID). (C) - (ITD). (D} - (IV)
2. (A) - (1I). (B) - (ID). (C) - (1). (D) - AV)
3. (A) - (D). (B) - (1), (C) - (IV). (D) - (I1I)
4.(A) - (IID). (B) - (V). (C) - (D), (D) - (1D

Options :

68019138257. 1
68019138258. 2
68019138259. 3
68019138260. 4

Question Number : 15 Question Id : 6801919713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L (A) - (D). (B) - II). (C) - (IIT). (D) - (IV)
2. (A) - (IID). (B) - (I1). (€) - (I). (D} - (IV)
3.(A)-(I). (B) - (I). (C) - (IV). (D) - (I1I)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options :



68019138257. 1
68019138258. 2
68019138259. 3

68019138260. 4

Question Number : 16 Question Id : 6801919714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

List-I List-11
{Author) (Books)
A |John Rawls I. |Wealth of Nations
B. |Robert Nozick II. |A Theory of Justice
C. |Adam Smith I11. | The End of History
D. |Francis Fukuvama IV | State and Utopia

Choose the correcr answer trom the options given below:

(A) - (D). (B) - (IV). (C) - (1). (D) - (I1I)
(A) - (I). (B) - (IIL). (C) - (II). (D} - (IV)
(A) - (IV). (B) - (IT). (C) - (I). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

Lo bd ==

Options :

68019138261. 1
68019138262. 2
68019138263. 3

68019138264. 4

Question Number : 16 Question Id : 6801919714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L (A) - D). (B) - AV). (C) - (I). (D) - (I11I)
2.(A) - (D). (B) - (). (C) - (ID). (D) - V)
3.(A) - (IV). (B) - (). (C) - (I). (D) - (I1I)
4. (A) - (IID. (B) - V). (C) - (D). (D) - (I)

Options :

68019138261. 1
68019138262. 2
68019138263. 3

68019138264. 4

Question Number : 17 Question Id : 6801919715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List the following events in a chronological order.

(A). Cuban Missile Crisis

(B). Kargil War

(C). Indian Peace Keeping Force (IPKF) to Sri Lanka
(D). Japanese attack on Pearl Harbor, USA

Choose the cerrect answer from the options grven below:

1. (D). (A). (C). (B).
2.(A). (B). (C). (D).
3. (B). (A), (D). (C)-
4. (C). (B). (D). (A).

Options :
68019138265. 1
68019138266. 2

68019138267. 3



68019138268. 4

Question Number : 17 Question Id : 6801919715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (D). (A). (C). (B).
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019138265. 1
68019138266. 2
68019138267. 3
68019138268. 4

Question Number : 18 Question Id : 6801919716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the tenure of the following Presidents:
(A). Neelam Sanjiva Reddy

(B). Dr. Zakir Hussain

(C).Dr. APJ Abdul Kalam

(D). Pranab Mukherjee

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).

2. (B). (A). (C). (D).

3. (B). (A). (D). (C).
4.(C). (B). (A), (D)

Options :



68019138269. 1
68019138270. 2
68019138271. 3

68019138272. 4

Question Number : 18 Question Id : 6801919716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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A(A) (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
4. (C). (B), (A). (D)

Options:

68019138269. 1
68019138270. 2
68019138271.3

68019138272. 4

Question Number : 19 Question Id : 6801919717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following events are matching with their year of occurrence
(A). Mumbai Terror Attack by Kashab in 2007

(B). Terror Attack on Indian Parliament i 2013

(C). Pulwama Terror Attack in 2014

(D). Uri Terror Attack i 2016

Choose the correct answer from the options given below:

1. {A). (B) and (D) only.
2. (A). and (C) only.
3. (B). and (D) only.
4. (B). (C) and (A) only.

Options :

68019138273. 1
68019138274. 2
68019138275. 3
68019138276. 4

Question Number : 19 Question Id : 6801919717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafEd g A Syl STd gfiecd g & ai A Aq W@l 8
(A) 2007 & Ha3 § HIME B 3fdbdla] gHl

(B) 2013 H HRAM 93 TR dddla! gHTI

(C) 2014 H AT ATd®| gHT

(D) 2016 T J 3fTcieh! ST

-4 fau e fdw el O 9§ 981 So I |

1. %ad (A), (B) 3R (D)
2. %ad (A) AR (C)
3. %dd (B) 3R (D)
4, %ad (B), (C) AR (A)

Options :

68019138273. 1
68019138274. 2
68019138275. 3

68019138276. 4



Question Number : 20 Question Id : 6801919718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The President can dissolve Lok Sabha on-

1. the recommendation of Chief Justice of India
2. the recommendation of Rajva Sabha

3. the recommendation of the Council of Ministers
4. the recommendation of the Lok Sabha

Options:

68019138277. 1
68019138278. 2
68019138279. 3
68019138280. 4

Question Number : 20 Question Id : 6801919718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR AT B 4T H TP G -

 YRd & T AR & e or
SO &1 RBIRY W)
ARy of iRy )
4, AIHTYUT Bt BRI

Options :

fad o —

68019138277. 1
68019138278. 2
68019138279. 3

68019138280. 4

Question Number : 21 Question Id : 6801919719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following organizations chronologically according to their year of establishment:
(A). ASEAN

(B). NAM

(C). UNO

(D). SAARC

Choose the correct answer from the options given below:

Options :

68019138281. 1
68019138282. 2
68019138283. 3
68019138284. 4

Question Number : 21 Question Id : 6801919719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaiRad ol @1 Sd! R & a4 & SFHR SRIHH® T4 Y aieyd B3
(A) SR

(B)WE;;

(C) gu

(D) TS

=g feu U fowedi & © 961 SR T

L (A). n:m (B). (D)
2.(B). (A). (C). (D).
3.(C). (A). (B). (D).
4.(C).(B).(A). (D)

Options :

68019138281. 1

68019138282. 2

68019138283. 3

68019138284. 4



Question Number : 22 Question Id : 6801919720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are CORRECT about the Council of States?

(A). The Couneil of States is not subject to dissolution.

(B). One-fourth of the members of the Council of States retire on the expiration of every second
year.

(C). The Council of States has abandoned the system of proportional representation.

(D). The order of retirement of the members 1z governed by the Council of States {Term of
Office of Members) Order, 1952,

Choose the correct answer from the options given below:

A). (B) and (D) only
) and (D) only

(

(A

3.(B) and (D) only
4.(A). (B) and (C) only

L.
2

Options :

68019138285. 1
68019138286. 2
68019138287. 3

68019138288. 4

Question Number : 22 Question Id : 6801919720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Xog-941 & R ¥ FEfafed 8§ § -9 59 98
(A). 50941 P1 e 781 51 9ol ¢ |
-] & US-F1UT Fad B g8R a9 $I gAMLl R Harqd 8l ¢ |
(C). ST ST wiaFifa &1 ond &1 @m fem g
(D). T&H! Bt Ha-ghi 1 ¥ AH-GHT (TSI & Ueraid)) SA1Eg, 1952 R AR gl g
T< feu e fowed) § € 981 SR T -
1.9ad (A). (B) @?r{ (D)
2. Had (A) 3R (D

3%?{(316%{@)
4, %ad (A). (B) AR (C

Options :



68019138285. 1
68019138286. 2
68019138287. 3

68019138288. 4

Question Number : 23 Question Id : 6801919721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are CORRECT about theories on global justice?

(A). Thomas Pogge in his work " The Law of Peoples” has addressed some of the 1ssues of
global justice

(B). In his eight principles, John Rawls seeks respect for human rights and duty.

(C). Rawls distinguishes between domestic and global society.

(D). Thomas Pogge argues that there is a gap between global poor and rich due to the global
mstitutional order.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). ( Bl and C) only.
3.(A). (B mld (D).
4. (B). (C] ancl (D) only.

Options :

68019138289. 1
68019138290. 2
68019138291. 3
68019138292. 4

Question Number : 23 Question Id : 6801919721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



o d Ao oy e Tn R gidi s aR H gl 82

(A) YT O = ofHl i < il i1 Uige H df® 19 & @ el &) 9aliid a1 g |

(B) 0 o5 Rrgial 8, 9 e AraiieR! 3R S & Ul 99 98d ¢ |

(C) Ve IR AR AP FHTS & &l SR Bl 5|

(%D)Wﬁwa&%%%ﬁw@wmm%wwﬁwﬂﬁaﬁ?@ﬂﬂ?éﬁ@ﬂﬂﬂa‘{
[

T4 fou 70 fowed & 9 951 SR T

1. Tad (A), B}G—FRLD)
2. B (A), (B) 3R (C)
3. (A). (B), (Dw

4. %0q (B Juf)afﬂ D)

Options :

68019138289. 1
68019138290. 2
68019138291. 3

68019138292. 4

Question Number : 24 Question Id : 6801919722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

List-1 List-II
Author/Thinker (Books.)
Thomas Pogge [ |Principles of Social Justice

Charles Beitz II. |The Possibility of Altruism
Thomas Nagel II1. |The Idea of Human Rights
David Miller IV, |World Poverty and Human Rights

ofofw[>

Choose the correct answer from the options given below:

(A) - (1. (B) - (). (C) - (A1), (D) - AV)
(A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
(A) - (IV). (B) - (TID). (C) - (IT). (D) - (T)
4. (A) - (IID). (B) - (IV). (C) - (D). (D) - (ID)

o —

T2

Options :
68019138293. 1

68019138294. 2



68019138295. 3
68019138296. 4

Question Number : 24 Question Id : 6801919722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-1 SR Gall-11 &1 e Bifor

T 11
A [4Eg O 1. |TUifued A1 gie wied
B. |[a1cd dew IL | Uit 3 siegged
C. |YEg ArTd 111 [T HTSTear 3t 595 U5y
D. [3fds AR IV. |93 uraci Us ggA T5eH

< Teu 7Tu fosedl § 9 981 Sox 4 |

L (A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (D). (B) - (III). (C) - (II). (D) - IV)
3. (A) - (IV). (B) - (ITI). (C) - (IT). (D) - (I)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options:

68019138293. 1
68019138294. 2
68019138295. 3
68019138296. 4

Question Number : 25 Question Id : 6801919723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"

Who among the following thinkers wrote "Sexual Politics"?

. Kate Millett
. Mary Wollstonecraft

. Carol Pateman
1.8 Mill

| R

B )



Options :

68019138297. 1
68019138298. 2
68019138299. 3
68019138300. 4

Question Number : 25 Question Id : 6801919723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafered fdere & 9 fog ey difafcaq. fordi

1. %c e
2. TN i I Tue

3. B Uehd
4.5 09 9

Options :

68019138297. 1
68019138298. 2
68019138299. 3

68019138300. 4

Question Number : 26 Question Id : 6801919724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following linked political development with administrative development?

1. James Coleman
2. Lucian Pye

3. David Easton
4, Max Weber

Options :
68019138301. 1

68019138302. 2



68019138303. 3
68019138304. 4

Question Number : 26 Question Id : 6801919724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafeRad 8 U fog- IeiHids f[de ™ o Ui ([de ™ O §isn

1. OIFY HiTa
2. g uTg
3. efds s
4, HFg daR

Options :

68019138301. 1
68019138302. 2
68019138303. 3
68019138304. 4

Question Number : 27 Question Id : 6801919725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Latin America — the region of the world where presidential institutions have dominated since the
nineteenth century, is also the region with-

1. Highest numbers of Women as Presidents.

2. Highest numbers of elections take place.

3. The highest level of regime mstability.

4, Highest level of economic development has taken place.

Options :

68019138305. 1
68019138306. 2
68019138307. 3

68019138308. 4



Question Number : 27 Question Id : 6801919725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

éﬁwﬂéw.gﬁmﬁ%%ﬁﬁsﬁwqméwwmmwﬁwﬁ
Hugalic-

1. APUR & Y H AT o1 gad it e
2, TG AT TTa8d €

3. I AR 1 e dH TR

4, e oo &1 T TR

Options:

68019138305. 1
68019138306. 2
68019138307. 3

68019138308. 4

Question Number : 28 Question Id : 6801919726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following thinkers wrote the book. "The Spirit of Laws"?

. Montesquieu

. David Easton

3. Carl J. Friedrich
4. James Bryce

| SR

Options :

68019138309. 1
68019138310. 2
68019138311.3
68019138312. 4

Question Number : 28 Question Id : 6801919726 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafelad f[aeRe! 5 9 fou- < ke offe ae giae fodh

o b
FTel of. helk®
4. SIE g 159

Options :

| R

Tl

68019138309. 1
68019138310. 2
68019138311. 3

68019138312. 4

Question Number : 29 Question Id : 6801919727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements:

(A). The President cannot send back a Constitutional amendment bill for recommendation to the
Parliament.

(B). The Judiciary also have the power to amend the Constitution,

(C). The State legislatures cannot initiate any Bill for amendment of the Constitution.

(D). The Parliament cannot amend the 'basic features’ of the Constitution.

Choose the correct answer from the options given below:

A). (B) and (D) only.
A). (C)*md (D) only.
A), (B). (C) and (D).
B). (C) and (D) only.

L(
1-(
3.
4.(

Options :

68019138313. 1
68019138314. 2
68019138315. 3

68019138316. 4



Question Number : 29 Question Id : 6801919727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafiRd FUH R foaR a3
(A) Wl idur ey oy o §9e & R & fau oy 767 99 ¥9d |
(B) TTIUIfRT & UTg Afay & FieT oo o1 ot Ifda g1
(€) 18 faurrayT Sfgum & I & o 3is fadgs 76l @1 9adl &
(D) G ey & g e § I T8 R 9l o
=t fqu e fosed! © 4 9el 3R |
1. %ad (A). (B) HR (D)
2. a9 (A). (C) 3R (D)

3. (A). (B). (C) 3R (D)
4. %ad (B). (C) IR (D)

Options:

68019138313. 1
68019138314. 2
68019138315. 3

68019138316. 4

Question Number : 30 Question Id : 6801919728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the provisions of the Constitution according to the order of its
appearance.

(A). Equality of opportunity in matters of public employment

(B).Protection of life and personal liberty

(C). Protection against arbitary arrest

(D).Freedom of speech and expression

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (D). (B). (C).

3. (B). (A). (D). (O).
4.(C), (B). (D). (A).

Options :

68019138317. 1



68019138318. 2
68019138319. 3
68019138320. 4

Question Number : 30 Question Id : 6801919728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GiayH & WU Bl gHe] SUTRIT & $1 & S8R SIAFSHS &4 § dieyd o
(A) T~ TSR & AT H a8 & JHTa0

(B) WaH 3R sfaaTd Waaa &l SRem

(C) T 87§ FRUIR! I SR

(D) F1e+ R Sfiyegiad ot W@aadn

1< feu T fomenl  § 961 S A |
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B). (D).
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A).
A
(B).
ek
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Options :

68019138317. 1
68019138318. 2
68019138319. 3

68019138320. 4

Question Number : 31 Question Id : 6801919729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following political thinkers argued that ‘man 13 by nature a political animal’ ?

1. Socrates

2. Plato

3. Thucydides
4. Arstotle

Options :
68019138321. 1



68019138322. 2
68019138323. 3

68019138324. 4

Question Number : 31 Question Id : 6801919729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafea ¥ 3 o Iorifas foare A 76 o i o wue 3 we Jerifos oy 8o
1. geId
2. &

3. yuieTeEd

4, 3REL

Options :

68019138321. 1

68019138322. 2

68019138323. 3

68019138324. 4

Question Number : 32 Question Id : 6801919730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who said that “politics 1s the authoritative allocation of values® because values are allocated
through implementing decisions. not just by making them?

1. David Easton

2. Max Weber

3. Talcott Parsons
4, Almond & Verba

Options:
68019138325. 1
68019138326. 2

68019138327. 3



68019138328. 4

Question Number : 32 Question Id : 6801919730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fo e fop TeHITal gl 1 SRS affde & Fifd el &1 sfides Hufd @1 A
B Y I &, 7 1 et Ie &

1. 3fdg g%

). a0 IR

3. Seple UTH
4, HGHS IR agl

Options :

68019138325. 1
68019138326. 2
68019138327. 3

68019138328. 4

Question Number : 33 Question Id : 6801919731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Legal theory of sovereignty in modern times was first propounded by

. John Austin

. Harold J Lask:
. T H Green

4. Jean Bodin

Options :

faa o —

68019138329. 1
68019138330. 2
68019138331. 3
68019138332. 4



Question Number : 33 Question Id : 6801919731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YYD FHg § U BT Il Fgid 968 usd i grRI v foar mr o -

1. 9 3ieq

2. XS O dR!
GLERIC]

4. S |t

Options :

68019138329. 1
68019138330. 2
68019138331. 3

68019138332. 4

Question Number : 34 Question Id : 6801919732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following was the reason for calling off the Non-Cooperation Movement?

1. Second Round Table Conference
2. Arrest of Gandhiji

3. Chauri-Chaura mncident

4. First Round Table Conference

Options :

68019138333. 1
68019138334. 2
68019138335. 3

68019138336. 4

Question Number : 34 Question Id : 6801919732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

frafefad § O S1F-91 SHegHT AEaT & 9199 o & SR YD

1. GER TS JHHeH
2. Tl &1 TRTART
3. ARI-ERT &I el
4, JYH MicTHS THaH

Options:

68019138333. 1
68019138334. 2
68019138335. 3
68019138336. 4

Question Number : 35 Question Id : 6801919733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following were not exponents of Positive Liberty?

. Rousseau

. T.H.Green

3. Harold Laski
4. Robert Nozick

Options :

I =

68019138337. 1
68019138338. 2
68019138339. 3
68019138340. 4

Question Number : 35 Question Id : 6801919733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fFafeiad § 9 o 9oRES Waadl & 9946 T 42
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2. 21 mg. U
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Options :

68019138337. 1
68019138338. 2
68019138339. 3

68019138340. 4

Question Number : 36 Question Id : 6801919734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following political thinkers said-' Equal should be treated as equals and unequal
should be treated as unequals'?

1. .S Mill

2. Aristotle

3. John Locke
4. Plato

Options :

68019138341. 1
68019138342. 2
68019138343.3

68019138344. 4

Question Number : 36 Question Id : 6801919734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeiRad IeFiide foar®l § 4 fog- Hgl-99H= & 91U Y91 UaeR [l S J1igu
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2

3. Sl

4. Tl
Options :
68019138341. 1
68019138342. 2
68019138343. 3

68019138344. 4

Question Number : 37 Question Id : 6801919735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Latin America provides the best instances of the technocratic culture. The ‘techno-boys’ were a
cohort of European- or American-trained graduates (mainly in economics or engineering) who
mfluenced economic policymaking in much of the continent. notably Chile. i the final decades
of which century?

1. eighteenth and mineteenth century.
2. eighteenth century.

3. nineteenth century

4. twentieth century.

Options :

68019138345. 1
68019138346. 2
68019138347.3

68019138348. 4

Question Number : 37 Question Id : 6801919735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138345. 1
68019138346. 2
68019138347. 3

68019138348. 4

Question Number : 38 Question Id : 6801919736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T.H Marshall divides citizenship into three parts. What are these?

1. Civil and political

2. Economic, political and cultural
3. Civil. political and social

4. Social. human and cultural

Options :

68019138349. 1
68019138350. 2
68019138351. 3
68019138352. 4

Question Number : 38 Question Id : 6801919736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. AT SR I ld®
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3. AR, oIS IR FHISS
4. YIS, THAIT 3R Yikpids

Options :

68019138349. 1
68019138350. 2
68019138351. 3
68019138352. 4

Question Number : 39 Question Id : 6801919737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Committee recommended for Panchayati Raj system in India?

1. Sarkaria Committee

2. Balwant Rai Committee

. Singhvi Commuittee

4. Admmmstrative Reform Committee

Lo

Options :

68019138353. 1
68019138354. 2
68019138355. 3

68019138356. 4

Question Number : 39 Question Id : 6801919737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



FafeiRad § O fog 9iaid 4 YRd § d9rgdl IS a1 @ forg fwiiew o

1. GRepIiar 9t

2. §add g Fiffd
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Options:

68019138353. 1
68019138354. 2
68019138355. 3
68019138356. 4

Question Number : 40 Question Id : 6801919738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Marxian Theory of surplus value is largely derived from the theory of

1. Adam Smith
2. Thomas Malthus

3. David Ricardo
4. 1.8 Mill

Options :

68019138357. 1
68019138358. 2
68019138359. 3
68019138360. 4

Question Number : 40 Question Id : 6801919738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019138357. 1
68019138358. 2
68019138359. 3
68019138360. 4

Question Number : 41 Question Id : 6801919739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Matech List-T with List-IT

Match the following leaders with their roles in the making of Indian Constitution:

List-I List-I1
(Leaders) Role in Constitution Making
Sarojim Naidu 1. |President of Constituent Assembly
Dir. Gl i .
B B Anibedbae II. |Member of Constituent Assembly

Rajendra Prasad | III. |Chairman of the Drafting Commuttee

o [ w [»

v Prepared a Constitution for India n

Motilal Nehru 1928

Choose the correct answer from the options given below:

1. (A) - (I1). (B) - (1), (C) - (IV), (D) - (IIT)
2. (A) - (D). (B) - (IV). (C) - (I1). (D) - (I1I)
3. (A) - (). (B) - (LIL). (C) - (I). (D) - (IV)
4. (A) - (D). (B) - (IV). (C) - (III). (D) - (IT)

Options :

68019138361. 1
68019138362. 2
68019138363. 3

68019138364. 4



Question Number : 41 Question Id : 6801919739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 SR Gl-11 &1 fHaH Sifeg
fafeTad Aarsi &1 YRd dfden= & Fofo g 391 yiie 3 fbam o

T =
wfgur Fafor & yfie
A (SRS g 1 [Sfaum aur & armg
B. a?' 9R. 11. [Hfae 941 & 959
C. [¥rig uarg 11 |90 Giafd & e
- . |1928 & yRa & fow ues Efge=
D. [HIdTeld J5% o8 g

- fau e fowedl 4 9§ 95l SR |

L (A) - (I). (B) - (I). (C) - (IV). (D) - (IIT)
2

. (A) - (D). (B) - (IV). (C) - (I1). (D) - (I1T)
3.(A) - (ID. (B) - (III). (C) - (D). (D) - V)
4.(A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)

Options:

68019138361. 1
68019138362. 2
68019138363. 3

68019138364. 4

Question Number : 42 Question Id : 6801919740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Whose regime in Indian politics 1s popularly known as one-party-dominant system?

. Indira Gandhi

. Manmohan Singh

. Jawaharlal Nehru

. Atal Bihar1 Vajpayee

I =

e s



Options :

68019138365. 1
68019138366. 2
68019138367. 3
68019138368. 4

Question Number : 42 Question Id : 6801919740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR e H [ IR B Us-UTe]-UY@ WM & =4 H SH1 Sl 57
1. SRt
2. e Rig
3. SaTeRdrd Jee
4. 3fed f9ER} arerad!

Options :

68019138365. 1
68019138366. 2
68019138367. 3

68019138368. 4

Question Number : 43 Question Id : 6801919741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following writs 1s 1ssued by Supreme Court in case of illegal detention of a person?

1. Habeas Corpus
2. Mandamus

3. Quo-warranto
4. Certiorari

Options :
68019138369. 1
68019138370. 2



68019138371. 3
68019138372. 4

Question Number : 43 Question Id : 6801919741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt o 1 3fqy =0 9 fegd | 787 & 9vd ©§ Tar= Uad gRI Felarad # 3 o
It e TRI &1 o1t 32

1. o TceliaR
2. TRHGY

3. HUDR G
4. 3]

Options :

68019138369. 1
68019138370. 2
68019138371. 3

68019138372. 4

Question Number : 44 Question Id : 6801919742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the events related to the history of United Nations
(A). UN Charter approved in San Francisco by 50 states.

(B).First UN Peacekeeping force sent to Suez Canal

(C).Trygve Lie appointed Secretary General

(D). UNDP was established

Choose the correct answer from the options given below:

(A). (B). (C). (D).
.(A). (D). (B). (C).
.(B). (A). (D). (C).
.(A). (C). (B), (D).

LI S

i

Options :

68019138373. 1



68019138374. 2
68019138375. 3
68019138376. 4

Question Number : 44 Question Id : 6801919742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG AP P SIIEN W YU TSI I DA D T H aRUd DY
(A)@?{ﬂo‘lﬁ@ﬁﬁ 50 {lw}mﬁgqﬂ?rgdtca &I HoRl gl g |
(B) HYGd WY BT UGl YildR&iD §ei ¥of 162 Hofl 7l
() fe7d wrg o1 uerdia Hged far
(D) UNDP &1 TTOT & 75 oY
=4 feu e foeedl § § 981 SR 4 |

.(A). (B). (C). (D)
. (A). (D). (B). (C).
. (B). (A). (D). (C).
4. (A). (C). (B). (D).

|

LS}

Options :

68019138373. 1
68019138374. 2
68019138375. 3

68019138376. 4

Question Number : 45 Question Id : 6801919743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Command Capitalism' was mtroduced with which five-year plan in India?

1. The First Five-Year Plan

2. The Second Five-Year Plan
3. The Third Five-Year Plan
The Fifth Five-Year Plan

Options :

gl

68019138377. 1



68019138378. 2
68019138379. 3

68019138380. 4

Question Number : 45 Question Id : 6801919743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YRd © g d=auiy disHl & |1y ga1e Yoidig ©f YReid @l g 2412

1. Ugdl Ugasg g
2. TER UFaulg gIeAT
3, AR dgatg g
4, Gt=al daadfy gremr

Options:

68019138377. 1
68019138378. 2
68019138379. 3
68019138380. 4

Question Number : 46 Question Id : 6801919744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

List-I List-II

{Agreements) (Year)
A |Tashkent A g;e ement I 1971
B. |Shimla Accord I 1966
C. |Indo-US Nuclear Deal I 11996
D. |Ganga Water Sharing Agreement IV 12005

Choose the correct answer from the options given below:

L. (A) - (D). (B) - (I1). (C) - (1ID). (D) - IV)
2. (A) - (1), (B) - (TII). (C) - (ID). (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV). (D) - (11I)
4. (A)-(ID. (B) - (I). (C) - (IV). (D) - (III)

Options :

68019138381. 1
68019138382. 2
68019138383. 3
68019138384. 4

Question Number : 46 Question Id : 6801919744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-1 SR Gell-11 o1 (e Biford
A1 LI
GLEIG) L)

A |arerde T I |1971

B. |FEmer JHEr 1. (1966

C. |HRd-SHRST UHI] THATT 1. | 1996

D. |7 9l Scar 99l V. [2005

< Teu 7Tu fosedl § 9 981 Sox 4 |

L (A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- ). (B) - (II). (C) - (II). (D) - (IV)
3. (A) - (D). (B) - I). (C) - (IV). (D) - (I1I)
4.(A) - (ID). (B) - (D). (C) - (IV). (D) - (I1I)

Options :



68019138381. 1
68019138382. 2
68019138383. 3

68019138384. 4

Question Number : 47 Question Id : 6801919745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of party system according to Giovanni Sartori's
clagsification?

1. single-party system

2. limited or moderate pluralism
3. balanced or affective pluralism
4. extreme or polarized pluralism

Options :

68019138385. 1
68019138386. 2
68019138387.3
68019138388. 4

Question Number : 47 Question Id : 6801919745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gﬂﬁl@ﬁﬁ@ﬁﬁmﬁuﬁaﬁ ARAR] & TR0 P S8R U FHR B °Te] Juna! 61

1. TH-TTe! gt

Options :

68019138385. 1



68019138386. 2
68019138387. 3

68019138388. 4

Question Number : 48 Question Id : 6801919746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following described democracy as the 'tyranny of the majority'?

1. J.Rousseau

2. John Dunning
3. James Madison
4. De Tocqueville

Options :

68019138389. 1
68019138390. 2
68019138391. 3

68019138392. 4

Question Number : 48 Question Id : 6801919746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafeifad @ 9 fe g diedd o1 '§g0d &1 AIER §dEln

1. 9. =4

2. Sl g
3, ofF g Afsgq
4, Bl Tipida

Options:

68019138389. 1
68019138390. 2
68019138391. 3

68019138392. 4



Question Number : 49 Question Id : 6801919747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of Savarkar’s idea of Hindutva. identify the incorrect statement.

1. Savarkar did not identify India in terms of territorial or political nationalism.

2. His definition of Hindutva meluded the faiths that had an origin outside the territorial
geography of India.

3. An essential of Hindutva is the existence of a common culture.

4, He 1dentified India in religio-cultural terms, with a distinet civilizational boundary.

Options :

68019138393. 1
68019138394. 2
68019138395. 3

68019138396. 4

Question Number : 49 Question Id : 6801919747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR & 65 B G9R & Y o, TTe7d S P IgaH B2

1. JIoReBR = &A1 TT XS VaTE & HeH H YR @1 Ue=H Tl 31|

2. e @1 S ufeuma 8 § o it & ot Safv YRa & &9 T S TR 65
i

3. 0% YHH Wpla &1 & figa of sfandarg|

4, 31 YRd Bl UgaH Yiit-aiplas eHl H U faf g o 4 & 9y &)

Options :

68019138393. 1
68019138394. 2
68019138395. 3

68019138396. 4



Question Number : 50 Question Id : 6801919748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who described India as a “soft state' lacking the capacity to act against the vested interests?

1. Gunnar Myrdal
2. Atul Kohli

3. Rajui Kothari
4. Paul Brass

Options:

68019138397. 1
68019138398. 2
68019138399. 3

68019138400. 4

Question Number : 50 Question Id : 6801919748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e YR &1 TP A 360 & =0 § aiuid o, forgs fed fgd & favg ok o ot
BT I © 2

1. TR R8T

2. A DIEl

3. 30| BIBRI

4. U1d 19
Options :

68019138397. 1
68019138398. 2
68019138399. 3

68019138400. 4

Question Number : 51 Question Id : 6801919749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s/are NOT CORRECT?

(A).First past the post gystem 1s followed for all the elections in India.

(B).Election Commission of India does not supervise Panchayat and municipal elections
(C).President of India cannot remove the Election Commissioner

(D).Appointment of more than one Election Commissioners in the Election Commission is
mandatory.

Choose the correct answer from the options given below:

1. (A)at
2. (A).

3. (A).
4. (B).

]

d (C) only.
Jand (C) only.

) (C) and (D).

) and (D) only.

ﬁﬁ’&i

Options :

68019138401. 1
68019138402. 2
68019138403. 3

68019138404. 4

Question Number : 51 Question Id : 6801919749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafed d 9 oH 9 oy 98 el 82

(A) URd H gl 161 & o0 B 9IRE & UIRe WUTTel! o1 9Ta fdhdT STl & |
(B) ¥R PI FAId SN Yad IR AR D1 A1G! $I (IR 761 DRl 6
(C) HRd & PU(d 19 3Tged B el el §d ©
(D]W&Wﬁﬁﬁmﬁﬂﬁqé{@ﬂ?ﬂﬁﬁgﬁﬁ&ﬁﬁﬁél
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1. Had (A) 3R (C)

2. %44 (A), (B) AR (C)
3. (A). (B). (C) 3R (D)
4. ad (B). (C) 3R (D)

Options :
68019138401. 1
68019138402. 2

68019138403. 3



68019138404. 4

Question Number : 52 Question Id : 6801919750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not a type of political culture according to Almond?

1. Parochial political culture
2. Objective political culture
3. Participant political culture
4. Subjective political culture

Options:

68019138405. 1
68019138406. 2
68019138407. 3
68019138408. 4

Question Number : 52 Question Id : 6801919750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS & STER FHfaRgd O 8 317 91 U UBR &1 Aa-lidd Gid el 62
1. b vl eI Sl
2. GEITE oIS i
3. UiAUEi IrefHifde I5pid
4. Sfgdfg eI G&pid

Options:

68019138405. 1
68019138406. 2
68019138407. 3
68019138408. 4

Question Number : 53 Question Id : 6801919751 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

List-I List-IT
{(Book) {Author)
A |Making Democracy Work I |Frank Marini
B To.wa_rdr_- a New Public A_dmunstratmn: it | fanEadc Tase
Minnow Brook Perspective
Admimistration: The Art and Science of Albert
. i II1.
Organization and Management Lepawsky
D Public Administration and Public v Robert
© |Management “|D Putnam

Choose the correet answer from the options given below:

-(A) = (II). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - AV). (B) - ). (C) - (III). (D) - (II)
. (A)-(@V). (B) - (II). (C) - (II), (D) - (T)
4. (A) - (D). (B) - (I). (C) - V). (D) - (II)

fad g —+

Options :

680191384009. 1
68019138410. 2
68019138411.3

68019138412. 4

Question Number : 53 Question Id : 6801919751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (TID). (C) - (D). (D) - (IV)
2. (A) - (IV). (B) - (. (C) - (TID). (D) - (ID)
3. (A) - (IV), (B) - (III). (C) - (II). (D) - (1)
4. (A) - (1), (B) - (D). (C) - (IV). (D) - (1)

Options :

68019138409. 1
68019138410. 2
68019138411. 3

68019138412. 4

Question Number : 54 Question Id : 6801919752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

List-1 List-11
A |Communist Party [. |Gramsci
B. |Hegemony II. [Lenin
C. |Dictatorship of proletariat I | Marx
D. |Polycentrism IV, | Togliatt1

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (I). (C) - (IV) (D) - (11I)
2. (A) - D). (B) - (I). (C) - (IIT). (D) - (IV)
3.(A) - (I). (B) - (III). (C) - AV). (D) - (II)
4. (A) - (III). (B) - (AV). (C) - (D). (D) - (II)

Options :



68019138413. 1
68019138414. 2
68019138415. 3

68019138416. 4

Question Number : 54 Question Id : 6801919752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A)- (1. (B) - (I). (C) - (IV) (D) - (1I)
. (A) - D). (B) - ). (C) - (IIT). (D) - (IV)
.(A) - @). (B) - (II). (C) - AV). (D) - (II)
4. (A) - (). (B) - (V). (C) - (D). (D) - (II)

RIEE

fad b2 —

Options :

68019138413. 1
68019138414. 2
68019138415. 3

68019138416. 4

Question Number : 55 Question Id : 6801919753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following political thinkers established the Atmiya Sabha?

1. Raja Ram Mohan Roy
2. Dayanand Saraswati
3. V.D. Savarkar

4. B.R. Ambedkar

Options :

68019138417. 1
68019138418. 2
68019138419. 3

68019138420. 4

Question Number : 55 Question Id : 6801919753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e IeHITdE [daR®! | 1 fdoaq sirda a4 & RIrg=1 &7

TSI I /g9 I
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Options :

| .

L]

68019138417. 1
68019138418. 2
68019138419. 3

68019138420. 4

Question Number : 56 Question Id : 6801919754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following politcal thinkers 1s the author of the book ' Manoeuvres'?

1. Jean Elshtain

2. Cynthia Enloe
3. J. Ann Tickner
4. Susan George

Options :

68019138421. 1
68019138422. 2
68019138423. 3

68019138424. 4

Question Number : 56 Question Id : 6801919754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. SiF Te=TeH
2. [T gAat
3.0, TF fehR
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Options :

68019138421. 1
68019138422. 2
68019138423. 3

68019138424. 4

Question Number : 57 Question Id : 6801919755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which Water Treaty between India and Pakistan 1s one of the bone of contention between two
neighbours?

1. The Ganga Water Treaty

2. The Indus Water Treaty

3. The Indus and Ganga Water Treaty
4, The Satly Water Treaty

Options :

68019138425. 1
68019138426. 2
68019138427.3

68019138428. 4

Question Number : 57 Question Id : 6801919755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA R IfeH & &1 oF O ow 9fY gHi gsitEl & &= ag &1 1@ aRug°

1. T et EfY

2. T4 o EfY

3. Y SR T e iy
4. Feelo il §iY

Options :

68019138425. 1
68019138426. 2
68019138427.3

68019138428. 4

Question Number : 58 Question Id : 6801919756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many members are nominated to Rajya Sabha by the President of India ?

.14
12
.16
4. 20

Options :

oo o —

68019138429. 1
68019138430. 2
68019138431. 3

68019138432. 4

Question Number : 58 Question Id : 6801919756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd & AFUTd GRI AU & AT foba- 9awg a1-1d g &I 52

.14

2

.16
4,20

Options :

Jd =

L]

68019138429. 1
68019138430. 2
68019138431. 3
68019138432. 4

Question Number : 59 Question Id : 6801919757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following country is an example of 'coming together federation'?

1. Spain

2. Belgium

. Switzerland
. Nepal

S )



Options :

68019138433. 1
68019138434. 2
68019138435. 3
68019138436. 4

Question Number : 59 Question Id : 6801919757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiaa & O o9 91 9 e 9 3F aTd 99 1 38180 872

Options :

68019138433. 1
68019138434. 2
68019138435. 3

68019138436. 4

Question Number : 60 Question Id : 6801919758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the 1971 India-Pakistan war, USA sent which of its aircraft carrier to the Bay of Bengal in
support of Pakistan?

1. George Blink 19
2. 5th fleet

3. 7th fleet

4. Washington 12

Options :

68019138437. 1



68019138438. 2
68019138439. 3

68019138440. 4

Question Number : 60 Question Id : 6801919758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1971 b YRA-UIIEEIH 45 5, SR = iisea & quUA H 3o o faumarge uid &1
ST B WIe! H 1ol U1

1, ST feciep 19

2. 531 gl

3. 74l &al

4. 9T 12

Options:

68019138437. 1
68019138438. 2
68019138439. 3

68019138440. 4

Question Number : 61 Question Id : 6801919759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s NOT covered under Article 21 of the Indian Constitution?

1. Right to livelihood

2. Right against solitary confinement

3. Right to freedom from noise pollution
4. Right to active euthanasia

Options :
68019138441. 1
68019138442. 2

68019138443. 3



68019138444. 4

Question Number : 61 Question Id : 6801919759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafaa 8 o W yRdg UeyE & srwe 21 & siarfd 78T emar &2

1. HdHT 6T HTDHR

2. TP HRIIN & RIAP HTRR
3. @ gy ¥ gfdd &1 UeR
4. 9ishT TG B HUIBR

Options :

68019138441. 1
68019138442. 2
68019138443. 3

68019138444. 4

Question Number : 62 Question Id : 6801919760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the principal organs of United Nations Organizations?
(A). Security Couneil

(B). Trusteeship Council

(C). United Nations Educational. Scientific and Cultural Organization (UNESCO)
(D). International Court of Justice

Choose the correct answer from the options given below:

1. {A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :
68019138445. 1
68019138446. 2

68019138447. 3



68019138448. 4

Question Number : 62 Question Id : 6801919760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaiad o 9 o 91 Syad Y SIS S U 382
(A) GI&TUREE

(B) ™I ORYg

(C) TgEa Y Afér, ax1-e SR FRPdD WS (G1Eh])
(D) SR TR

- fau e gl O 9 9ol SR 4|

. %ad (A), (B) 3R(D)
. %ad (A). (B) 3AR(C)
(A). (B). (C) 3R (D)
4. (B). (C) 3R (D)

L o R

Options :

68019138445. 1
68019138446. 2
68019138447.3

68019138448. 4

Question Number : 63 Question Id : 6801919761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year was the "Make 1n India' policy adopted by the Government of India?

. 2016
2014
. 2020
4, 2018

Options :

faa =3 —

68019138449. 1

68019138450. 2



68019138451. 3

68019138452. 4

Question Number : 63 Question Id : 6801919761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HRd TRPHR §RI {59 a8 0 54 sfaar Hifd ogams 75 U

. 2016
2014
. 2020
4, 2018

Options :

| B

Tl

68019138449. 1
68019138450. 2
68019138451. 3

68019138452. 4

Question Number : 64 Question Id : 6801919762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

List-I List-I1
(Author) {Book)
A TS Ml I. |A Theory of Justice
B. |Eobert Nozick | II. |On Liberty
C. |John Rawls III. | Anarchy, State and Utopia
D. |[Macharvelli IV. |The Prince

Choose the correct answer from the options given below:

(A)- (D). (B) - (I}, (C) - (I11). (D) - (IV)
(A) - (II). (B) - (III). (C) - (D). (D) - (IV)
.(A)- (D). (B) - (II). (C) - (V). (D) - (TID)
4. (A) - (M), (B) - (IV). (C) - (D). (D) - (I1)

Lo bd ==

Options :



68019138453. 1
68019138454. 2
68019138455. 3

68019138456. 4

Question Number : 64 Question Id : 6801919762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-1 SR Fl-11 o1 (HaE Sifey

W -

S fga | 1 |eran e 9y
Uac Afam | 1 |39 et

EICEIR] 1L [A1&, %2 Us geiftar
Bfgrgraeh v |5 fifg

- fau e g & 9§ 98l SR I |

- (A) - (@) (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (D). (C) - (@). (D) - (IV)
(A) - @ (B) - (II). (C) - (IV), (D) - (I1T)
. (A) - (). (B) - AV). (C) - (). (D) - (II)

P IREE

ol b2 —

=

Options :

68019138453. 1
68019138454. 2
68019138455. 3

68019138456. 4

Question Number : 65 Question Id : 6801919763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Who conceptualised the idea of "bounded rationality'?

1. A. Etziomi

2. Herbert Simon
3. Max Weber

. F.W. Riggs

e

Options :

68019138457. 1
68019138458. 2
68019138459. 3

68019138460. 4

Question Number : 65 Question Id : 6801919763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TRag dhadar & fGaR @ RN f&aa 2

1. Q. weform
2. BaC GIRHA
3. Hgg daR

4. TP, Sy,
Options :
68019138457. 1
68019138458. 2
68019138459. 3

68019138460. 4

Question Number : 66 Question Id : 6801919764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

List-1 List-II
{Book) (Author)
An Unwritten Future Realism
A |and Uncertamty 1n World I |Jonathan Kirshner

Politics

Baylis John, Steve

B. |Globalization of World Politics | 11 Srnith. Pattiii T

C. |Power: A Radical View ITI. |Steven Lukes
Fegions and Powers :The

D. |Structure of International IV |Barry Buzan
Security

Choose the correct answer from the options given below:

A(A)- (D). (B) - (I1). (C) - (IIT). (D) - (IV)
(A) - (1), (B) - (IID), (C) - (I). (D) - (IV)
(A) - (I). (B) - (IT). (C) - (IV), (D) - (IIT)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (I)

o o —

Options :

68019138461. 1
68019138462. 2
68019138463. 3

68019138464. 4

Question Number : 66 Question Id : 6801919764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i1 SR Fal-11 o1 (e o

‘.!1#]'_1 gg!—ﬂ
U SR TR R ¢
HER Us
A Brf 5 aed O | | SHIYA HIR
o [FiSTmEsRA o aw ; [SFE S, Eia ey,
" [gifafesw © |G Siag
C. [Tiawsifgma sy 1. |&154 vged
{59 TS Uad . S AT | .. |
D. |53 R V. |l gt
- fau e fow el O 9§ 981 SR I |

1. (A) - (1), (B) - (II). (C) - (I11). (D) - (IV)
2. (A) - (). (B) - (IT). (C) - (I1), (D) - (IV)
3.(A) - (I). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (). (D) - (II)

Options :

68019138461. 1
68019138462. 2
68019138463. 3
68019138464. 4

Question Number : 67 Question Id : 6801919765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thucydides’ text on the Peloponnesian War is a story between which ancient states?

. Greek and Roman

. Austria and Hungary
. Athens and Sparta

4. Tibat and Tiwan

I =

[ W]

Options :

68019138465. 1
68019138466. 2
68019138467. 3

68019138468. 4



Question Number : 67 Question Id : 6801919765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UAHREA g5 IR YHSIEsd &1 Uld a5+ WTEi= Id] & g B el 82

1. Wi SR I
2. 3T 3R TR
3. TUY 3R wref
4, foaa oz faam

Options:

68019138465. 1
68019138466. 2
68019138467.3

68019138468. 4

Question Number : 68 Question Id : 6801919766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s/are CORRECT regarding the basic assumptions of realism?
(A). Realism explains power politics 1n terms of egoism

(B). Dependency theory 1s a key aspect of Realism

(C). Statecraft and national interest are key aspects of Realism

(D). Balance of power is essential to preserve the liberty of states

Choose the correct answer from the options given below:

1. (A), (
2. (A).(
3. (A).(
4.(B). (

)and (D) only.
)and (D) only.
). (C) and (D).
)

B
&
B
C) and (D) only.
Options :
680191384609. 1
68019138470. 2
68019138471. 3

68019138472. 4



Question Number : 68 Question Id : 6801919766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁuﬁﬁﬁﬁ@fﬁqmﬁmmuwﬂa’mﬁ yRon3f & Jau H Tl e/e?
(A) TUIIATE EHR & gy 1 g aﬁaﬁﬁﬁmw%

(B) fiRer i gurdare o106 vHE URYE
(@Waﬁwgﬂ%ﬂumﬁ%%@%q%

(D) Il &1 AT Dl §HIU G- P o718 g BT JqaH TP &
- fau e fowedl 4 9§ 95l SR A |

1. %ad (A). (B) 3R (D)
2. %ad (A). (C) 3R (D)
3. (A). (B). (C) 3R (D).

4, %dd (B). (C) AR (D)

Options :

68019138469. 1
68019138470. 2
68019138471. 3

68019138472. 4

Question Number : 69 Question Id : 6801919767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following political thinkers was the author of "The Precepts of Jesus. the Guide
to Peace and Happiness"?

1. Ram Mohan Roy
2. MK. Gandhu

3. B.R. Ambedkar
4. VD. Savarkar

Options :

68019138473. 1
68019138474. 2
68019138475. 3



68019138476. 4

Question Number : 69 Question Id : 6801919767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%}fﬁ@ﬁ?ﬁ?ﬂﬁﬂiﬁﬂﬁﬁ@iaﬂqﬂm 31w ey, 2 5S¢ Ui TS gull=g &
Jif

1. IH HIgA Y

2. 79, BT

3. 91 3R S
4, 1. SI. GIRER

Options :

68019138473. 1
68019138474. 2
68019138475. 3

68019138476. 4

Question Number : 70 Question Id : 6801919768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the following statements, which are true regarding United Nations' Sustamable
Development Goals or 2030 Agenda?

(A). The Agenda 18 a broad Intergovernmental agreement that acts post 2015 Developmental
Agenda.

(B). It does not distinguish between developed and developing nations

(C). It 1s based on the United Nations resolution entitled"the future we want",

(D). The role of global civil society is significantly restricted m this Agenda

Choose the correct answer from the options given below:

1. A and B only.
2. C and D only.
3. A.B and C only
4. B and D only.

Options :

68019138477. 1



68019138478. 2
68019138479. 3

68019138480. 4

Question Number : 70 Question Id : 6801919768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Syl 1 8 BIF @ Tge Y & Fad (9T aedl 41 2030 Tsis] & et 7 O 62

(%A) TSl gT U9 TS HR-IRGHRI GHIGI 8 9l 2015 & [AHTHIS TolsT & 915 B Hdl
!

(B) T% foofha IR fGomeia 3o & o I T&f sar gl

(C) g "5 I Hidw TT5d & A1 YT P b HTd W UG 6

(D) 9 UaisT H afyep AN T &1 4] BT SiHd g

e feu g famed 4 € 98 SR

1. $IAAIRB
2.%ad C ARD
3. BaAAB AR C
4, BaAB ARD

Options:

68019138477. 1
68019138478. 2
68019138479. 3

68019138480. 4

Question Number : 71 Question Id : 6801919769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 'Pahal Scheme' started by the Government of India is related with:

1. Direct transfer of LPG Subsidy
2. Women Education

3. Child Education

4. Agricultural Loan

Options :



68019138481. 1
68019138482. 2
68019138483. 3

68019138484. 4

Question Number : 71 Question Id : 6801919769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRA PR GRILF 1 g 'Ted dier Fafeiad 9 Safdd e

1. Tediolt Ofeus] &1 Us gxaiaRul
2. afgarsi & fRren
3. 91 fRren

4. P B0

Options :

68019138481. 1
68019138482. 2
68019138483. 3

68019138484. 4

Question Number : 72 Question Id : 6801919770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The constitution of Local Body Ombudsman was recommended by which of the following
bodies ?

1. Nit1 Ayog

2. Second Administrative Reform Commission
3. L.M.Singhvi Committee

4, Sarkarta Commission

Options :
68019138485. 1

68019138486. 2



68019138487. 3
68019138488. 4

Question Number : 72 Question Id : 6801919770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafatad | @ fog Fon R 2 Fen aoud & 764 & e o 1 U

1. A1l S

2. GER VRIS GUR ST
3. Ud. A, fHudt giafa

4. DI TG

Options :

68019138485. 1
68019138486. 2
68019138487. 3

68019138488. 4

Question Number : 73 Question Id : 6801919771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rousseau's political philosophy furnished the basis for

1. Popular Sovereignty
2. Absolute Sovereignty
3. Limited Sovereignty
4. Political Sovereignty

Options :

68019138489. 1
68019138490. 2
68019138491. 3

68019138492. 4



Question Number : 73 Question Id : 6801919771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&I & Aeidd &g A H1 YR JgR &)

1. Tl 9T HyHdl

2. Ot e
3. SIHd Uy
4. SIS FUHT

Options :

68019138489. 1
68019138490. 2
68019138491. 3

68019138492. 4

Question Number : 74 Question Id : 6801919772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the writings of Karl Marx according to the year of publication
(A). The Communist Manifesto

(B). Critique of Gotha Programme

(C). The German Ideology

(D). The Eighteenth Brumaire of Louis Bonaparte

Choose the correet answer from the options given below:

1. (A). (B). (C). (D).

. (B).
2.(C). (A). (D). (B).
3.(B). (C). (A). (D).
4.(B). (C). (D) only.
Options :

68019138493. 1
68019138494. 2
68019138495. 3

68019138496. 4



Question Number : 74 Question Id : 6801919772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BT {1 & TG B YPIRH & g8 & STER DIAMDID 4 ° Hafedd $1|
(A) PRI GINUTT

(B) Y1 PTUHH B AT

(C) S faaRYRT

(D) Ts SHIUTE & HBREAl FHIR

- feu e faedl O ¥ 961 SR 94

1. (A). (B). (C). (D)
2.(C). (A). (D). (B)
3.(B). (C). (A). (D)
4, HFA (B). (C), (D)

Options:

68019138493. 1
68019138494. 2
68019138495. 3

68019138496. 4

Question Number : 75 Question Id : 6801919773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List-I1 List-II
(Author) {(Book)
A |Almond & Sidney Verba | 1. |Comparative Politics: A Developmental Approach
B. |Gabriel Almond & Powell| I1. |Capitalism and Under Development in Latin America
C. |Andre Gundre Frank III. |How Europe underdeveloped Africa
D. |Walter Rodney IV. | The Civic Culture

Choose the correct answer from the options given below:

L. (A) - (D). (B) - (ID). (C) - (TID), (D) - (IV)
2. (A) - (IV). (B) - (. (C) - (1D). (D) - (I11)
3.(A) - (D). (B) - (ID). (C) - (IV). (D) - (I11)
4.(A) - (I (B) - (V). (C) - (D). (D) - (D)



Options :

68019138497. 1
68019138498. 2
68019138499. 3
68019138500. 4

Question Number : 75 Question Id : 6801919773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1S 1Y Gl 11 T FHeH &Y
T I
GECED) (TET®)
A HeHE AR s . TR Ullaiead- of Sgauded
B EEl " |
. e SfaHs 3R & hiteioed U3 38 Saaude 34
S LIGG NGRS G
c. = T1s e 111|813 TRIY HETSaqs I
D. |aTee a1 V. | fafae sedy
- feu U 9@l O 9§ 981 S I |

. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
(A) - (IV). (B) - (). (C) - (ID). (D) - (I1T)
(A) - (I). (B) - (I). (C) - (IV)), (D) - (I1T)
. (A) - (III). (B) - (V). (C) - (). (D) - (II)

o =

P

Options :

68019138497. 1
68019138498. 2
68019138499. 3

68019138500. 4



